Занятие от 27 октября, группа 31Э, преподаватель Самолюк И.Ю.
В начале занятия ОБЯЗАТЕЛЬНО подпишите Фамилию, имя и номер группы.

Потом переходите к теме урока!!!

Тема урока «Трансформаторы»
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1. Записать новые слова с переводом. Выучить 
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упр 2. записать словосочетания и дать их перевод. Выучить.

[image: image4.png]iron core primary winding
closed core secondary winding
input voltage step-up transformer
output voltage step-down transformer





упр 3. ТЕКСТ– читать и переводить устно. 

[image: image5.png]Transformers

A transformer is used to transfer energy. Due to the transformer
electric power may be transferred at a high voltage and reduced at the
point where it must be used to any value. Besides, a transformer is used
to change the voltage and current value in a circuit.
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A two-winding transformer consists of a closed core and two coils
(windings). The primary winding is connected to the voltage source. It
receives energy. The secondary winding is connected to the load resis-
tance and supplies energy to the load.

The value of voltage across the secondary terminal depends on the
number of turns in it. In case it is equal to the number of turns in the
primary winding the voltage in the secondary winding is the same as in
the primary.
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[image: image6.png]In case the secondary has more turns than the primary the output
voltage is greater than the input voltage. The voltage in the secondary is
greater than the voltage in the primary by as many times as the number
of turns in the secondary is greater than the number of turns in the pri-
mary. A transformer of this type increases or steps up the voltage and is
called a step-up transformer. In case the secondary has fewer turns than
the primary the output voltage is lower than the input. Such a trans-
former decreases or steps down the voltage, it is called a step-down
transformer.

Compare T; and T; in the diagram. 7 has an iron core. For this rea-
son it is used for low-frequency currents. T; has an air core and is used
for high frequencies.

Common troubles in transformers are an open in the winding, a
short. between the primary and the secondary, and a short between
turns. In case a transformer has a trouble it stops operating or operates
badly. A transformer with a trouble should be substituted.




Упр 4. по содержанию текста записать ПОЛНЫЕ предложения , выбрав правильный вариант, и их ПЕРЕВЕСТИ

[image: image7.png]. A transformer is used

. Electric power is trans-
ferred at a high voltage
and reduced to any value

. A transformer consists of

. The function of the pri-
mary is

a) to store charge.

b) to prevent the change of energy.

c) to transfer energy.

d) to change the voltage and current value
in a circuit.

a) due to resistors.
b) due to capacitors.
c¢) due to transformers.

a) cores only.

b) the primary and the secondary windings.

¢) a core and the primary and the secon-
dary windings.

a) to prevent the change of voltage.
b) to supply energy.
¢) to receive energy.




[image: image8.png]10.
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. The function of the sec-

ondary is

. A step-up transformer is

used

. A step-down transformer

is used

. A transformer with an

iron core

. A transformer with an air

core is used

In a step-up transformer

A transformer should be
substituted

a) to receive energy.

b) to supply energy.

c) to transfer energy.

d) to decrease the value of charge.

a) to step down or decrease the secondary
voltage.

b) to step up or increase the primary volt-
age.

a) to step down the secondary voltage.
b) to step down the primary voltage.

a) is used for high-frequency currents.
b) is used for low-frequency currents.

a) for high-frequency currents and for low-
frequency currents.
b) for high-frequency currents only.

a) the number of turns of the secondary
winding is greater than the number of
turns of the primary,

b) the number of turns of the primary
winding is greater than the number of
turns of the secondary.

a) in case it has an open in the winding.

b) in case it has a short between the pri-
mary and the secondary.

¢) in case it has a short between turns.




упр 5.  продолжить предложение по смыслу, добавив слово while. Обратите внимание на слова, выделенные жирным шрифтом:
[image: image9.png]Ll ol

The secondary winding of a transformer is connected to the load re-
sistance ... .

The primary winding receives energy ... .

A step-down transformer decreases the primary voltage ... .

An air core transformer is used for high-frequency currents ... ... .

In a step-up transformer the number of turns of the secondary winding
is greater than the number of turns of the primary winding ... ... .




Упр 6. выполнить технический перевод текста 

[image: image10.png]Current Transformers

Current transformers are used for operating ammeters, wattmeters, and
other measuring devices. They produce in the meters a current lower than
the measured current but proportional to it.

Current transformers also insulate the instrument from the circuit which
is being measured. This is necessary for high voltage circuits.




Тема 2 урока «Индуктивность»
1. Записать новые слова с переводом. Выучить
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упр 2. записать словосочетания и дать их перевод. Выучить.
[image: image13.png]a. definite value

primary coil

wire coil

mutual inductance

varying current

one ampere per second

Coils of wire are called inductors.

Two coils are brought close together.

A source of current is applied to one of the coils.
Mutual inductance is measured in henries.
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упр 3. записать слова, определить часть речи и дать их перевод. Выучить.

[image: image14.png]resistor, resist, resistance; induce, induction, inductor, inductance;
conductor, conduct, conductance; compute, computer




упр 4. 

ТЕКСТ– читать и переводить устно. Схему себе перенести в тетрадь. Выписать из текста описание схемы!

[image: image15.png]Inductance and Mutual Inductance

Any conductor has some definite value of inductance. The induc-
tance of a conductor shows how well it can provide induced voltage.

Elements of a circuit with a definite value of inductance are coils of
wire called inductors. The inductance of a coil depends upon its size
and material. The greater the number of turns of a coil, the higher is its
inductance. An iron core also increases the value of inductance. Coils
of this type are used for low-frequency currents while coils with an air
core are used for high-frequency currents.

Two coils A and B are brought close together and a source of vary-
ing current is applied to coil A. If a measuring device is connected
across the terminals of coil B it will be found that a voltage is induced
in this coil though the two coils do not touch. The secondary voltage,
that is the voltage in coil B, is called induced voltage and energy from
one coil to the other transfers by induction. The coil across which the
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current is applied is called the pri-
mary; that in which voltage is in-
duced is called the secondary. The
primary and the secondary coils have
mutual inductance. Mutual induc-
tance is measured in the same units
as inductance, that is in henries.

Thus, when a rate of change of
one ampere per second in the primary
coil will produce one volt in the sec-
ondary coil, the two coils have one
henry of mutual inductance.

It should be taken into consideration that induction by a varying cur-
rent results from the change in current not in the current value. The
faster the current changes, the higher the induced voltage.




Упр 5. по содержанию текста записать ПОЛНЫЕ предложения , выбрав правильный вариант, и их ПЕРЕВЕСТИ

[image: image17.png]. Any conductor has
. Any conductor can provide

. Elements with a definite value
of inductance

. The inductance of a coil de-
pends upon

. An iron core
. The value of mutual induc-

tance is measured

. Induction by a varying current

. The faster the current changes,

a) some definite value of resistance.
b) some definite value of inductance.

a) electric power.
b) induced voltage.

a) are called inductors.
b) are called coils.
¢) are called sources.

a) its size.

b) its core.

c) its material.

d) its number of turns.

a) increases the value of inductance.
b) decreases the value of inductance,

a) in watts.
b) in henries.
a) results from the change in current.

b) results from the change in the cur-
rent value,

a) the lower is the induced voltage.
b) the higher is the induced voltage.




упр 6.  продолжить предложение по смыслу, добавив слово while. Обратите внимание на слова, выделенные жирным шрифтом:
[image: image18.png]1. An air core decreases the value of inductance ..
2. Aniron core is used for low-frequency currents
3. The coil in which voltage is induced is called the secondary




Домашнее задание:  Слова новые учить 

! Выполненные письменно задания отправить на проверку по почте:   irinasamolyuk@yandex.ru
В теме письма указать Фамилию Имя, группу, дату задания по расписанию
